Data sheet

Commercial Art.No.: 70.358.1035.0
Hood BAS GOT GD 10 M25 A0

revos BASIC size 10 hood with cable gland M25, lateral cable entry, with locking

levers, double locking lever

Commercial Art.No.
EAN
Order Unit

Technical data

General

Housing material

Colour

Surface

Degree of protection (IP)

UV resistant

Inflammability class of insulation material acc. with UL94
Operating temperature range min.

Operating temperature range max.

Model

DIN-size

Model

Locking mechanism
Cable entry

Type of cable

With cable screw gland
Thread size M
Thread size PG
Hinged lid
EMC-version
Length

Width

Height

Classification

ECLASS 8.1
ETIM7.0
ETIM 6.0
ETIM 5.0
ETIM 4.0

wieland

DIGITALIZATION

IN PROGRESS

70.358.1035.0
4015573650947
1

Aluminium

Grey

With powder coating
IP54

Yes

Other

-40°C

120 °C

10

male

Double locking levers
Sideways

Gland nut

Yes

25

No
No
73 mm
56 mm

53 mm

27440202

EC000437
EC000437
EC000437
EC000437

Creation date 13.04.2015

Reserve technical changes

Page 1



ETIM 3.0

Fits with

Commercial
Art.No.:

70.325.1028.0
70.340.1035.0
70.340.1035.1
70.341.1035.0
70.341.1035.1
70.342.1035.0
70.342.1035.1
70.343.1035.0

70.343.1035.1

Article-type description:

Bottom BAS GUT GE 10 A

Bottom BAS GUT GF 10 M20 A0

Bottom BAS GUT GF 10 M20 A1

Bottom BAS GUT GG 10 M20 AO

Bottom BAS GUT GG 10 M20 A1

Bottom BAS GUT GH 10 M20 A0

Bottom BAS GUT GH 10 M20 A1

Bottom BAS GUT GI 10 M20 AQ

Bottom BAS GUT GI 10 M20 A1

vz wieland

EC000437

Description:

revos BASIC size 10 open-bottom base, with cover, double locking
lever

revos BASIC size 10 closed-bottom base with 2 cable glands M20,
with cover, double locking lever

revos BASIC size 10 closed-bottom base with 2 threaded collars M20,
with cover, double locking lever

revos BASIC size 10 closed-bottom base with cable gland M20, left,
with cover, double locking lever

revos BASIC size 10 closed-bottom base with threaded collar M20,
left, with cover, double locking lever

revos BASIC size 10 closed-bottom base with cable gland M20, right,
with cover, double locking lever

revos BASIC size 10 closed-bottom base with threaded collar M20,
right, with cover, double locking lever

revos BASIC size 10 closed-bottom base with cable gland M20,
bottom, with cover, double locking lever

revos BASIC size 10 closed-bottom base with threaded collar M20,
bottom, with cover, double locking lever

Creation date 13.04.2015

Reserve technical changes Page 2



7 3 4 5 b A
< |
2|2
_g 3

. g |
é @ "% 5
N £l
7
8
- .
=B i 10
P: = I I I
W LN E
“;4 °o°°°o° WA
JU B T -
Qo Rig . [
17
— | <::}:2 (3 ’ FS | [+ Eg | 18
O 19
= 73 == <56 ! 2> 20
B M1
é, % M7
. E M3
I ]
= i
e 8 M25 Kabelverschraubung {KV), P65
f:f 70.352.1035.5 | BAS GOT 6D 10 g5 A5 |Neoe e isenitees dpes i
§ 8 E 8 MZ5 KV mit Zugentlastung, P54 -
z é : 7O°355"1035- BAS GUT 6D 10 M2 0 b /CG with strain relief IPS4 L
== E ' ' 8 MZ5 KV mit Zugentlostung und Knickschutz, IP54
U D Z Vor an J[ en/ Vor an t S 7O°355'WO35' BAS GOT GD 10 M7 0 A3 JCo with stroin relief ond bend support, P54
8 MZ5 /wischenstutzen
- 0 2 .3 s .9 70.352.1035.2 | BAS GOT 6D 10 55 A2 | 5hiee
8 MZ25 Gewindebohrung
70.35¢0.1035,1 | BAS GOT 6D 10 50 A1 |5 eas e le A
8 MZ5 Kabelverschraubung(KV), P54
70,355.W035_ BAS GOT 6D 10 M20 A0 /Cable gland{CG), P54
Bestel [nummer Typ Vorianten WSQH
/Order number /Type sNariants Vdraned
Weitere Daten siehe KATALOG oder eKatalog. www.wieland-electric.com
Additional data see CATALOG or eCatalog. eshop.wieland-electric.com

Tolerierung Size 150 16405/ Tolerance system Size 150 14405(E).

(This I50-standard deshribes the envelope principle. According to the envelope
principle the deviations of form and porallelism are limited by the size tolerances).

jo/yes DX Stoffverbots- und Deklarationsliste noch UU-TOM-05/03 ist einzuhalten,

Conformity with Wieland document UU-TAM-05/03 {1ist of prohibited /

declarable hozordous substances) to be declared!

Freitoleranz noch CAD - Zeichnung, keine monuellen Anderungen 1. Verwendung: Blatt: : oy
General tolerance CAD - drawing, no monual modifications ol lowed |First Use: Sheel: of
/ g@ Werkstof f/Material 2013 | Tog/Date Name Zeichnung Nr./Drawing No. [ndex
/ Aluminium gfé;gthm 21.08. | Treschan ‘| ‘I
/- [Mubstab/Seale beschichtet/ coated gﬁggm T 70 ' 355 ' 035 * O 3K
. N . . . : .
/ 1:2 grau/ grey g‘fgfﬁfpghetk - Mafe in mm/Dimensions are in mn
s Vol mm3|m||/8wfn m| Ersatz fir/Replacement for: -
/ > O Type Benennung/Title
7 lama
/
— W WIGIRMT | s GFHAFUSEOBERTEIL
Ind . . .
7 | Gole / Sheel Eleltrische BASIC Baugrope 10-Kabelabgang seitlich-M20/M25

Anderung/Revision

Verbindungen

Hood size

10-cable outlet side-M20/M25

L

| 6

OU-PEM-08/,91b

70355103501 3K_2 CADW3028 Treschan 2013—-09-20109:11:40  1.000



